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Mental Alility 1

Group Number : 1
Group Id : 998367650
Group Maximum Duration : 0
Group Minimum Duration : 0
Revisit allowed for view? : No
Revisit allowed for edit?: No
Break time: 0
Group Marks: 20
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0
Mental Ability 1
Section Id : 998367771
Section Number : 1
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questionsto be attempted: 20
Section Marks: 20



Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section Id: 998367983
Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 99836718305 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the following words CANMNOT be made by using the letters from the given word?

COURAGEDS
Options:

1. % CARGO
2. ¥ GREAT
2 % GRACE

4, % ROUGE

Question Number : 1 Question Id : 99836718305 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Tt & & @19 ar-aee 120 M7 sfeg & 4T &7 JUT ek TR ST oI ST 27

COURAGEDUS
Options:

1. ® CARGO
= ¥ GREAT
2. % GRACE
4 % ROUGE

Question Number : 2 Question Id : 99836718306 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the term that will come next in the following series.

Z1H, W2T, 5230,
Options:
1. % IN4]

2. ¥ N4l
2% 04K
4. % 4]

Question Number : 2 Question Id : 99836718306 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
STITR! SFFAT § ST aTel e, &7 212 &

Z1H, WZ2T, 530,
Options:



1. % N4]
2. ¥ N4l
3% 04K
4 % 04]

Question Number : 3 Question Id : 99836718307 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Find the missing term in the following letter series.

HHHOOHHY, ¥HOHONHY, HONHOHNY, QXNHOHYY, XHEOXHHO, ?
Options:

1. % HHXOHOHK

2. % HHOHKOHE

3. % {HOHHHOX

4. ¥ H{HHOKKOK

Question Number : 3 Question Id : 99836718307 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TRRET S1a/ o= | g7 U ®1 ST @

HHHOOHHE, ¥HOHOKHE, HOHHOHER, OHHHOHEY, XHEOHHHD, ?
Options:

1. % HHHOHOHE

2. % HHOHHOHE

2% HHOHMHOK

4, ¥ HEHOHEOK

Question Number : 4 Question Id : 99836718308 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Cut of the given options, three are simmilar in a certain manner. However, one option is MOT like the other three,
Select the option which is different from the rest.

Options:

1. % 5VY

2. % JMP

2 ¥ MOD
4 % ADG

Question Number : 4 Question Id : 99836718308 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

%qrr%ﬁfﬁﬁﬁﬁ A T TS FF & T 8 §IAT, U [dded ST o 4 o1 a¥g Agl 51 99 e @1 oa & o1 9Tl &
STEATT

Options:

1. % 5VY

2. % JMP

39 MOD



4 ® ADG

Question Number : 5 Question Id : 99836718309 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Cut of the given options, three are simmilar in a certain manner. However, one option is MOT like the other three,
Select the option which is different from the rest.

Options:

1. % Cake

2. % Bread

2. ¥ Potato Chip

4. % Biscuit

Question Number : 5 Question Id : 99836718309 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

%qrr%ﬁfﬁﬁﬁﬁ A T TS FF & T 8 §IAT, U [dded ST o 4 o1 a¥g Agl 51 99 e @1 oa & o1 9Tl &
STEATT

Options:

1. % g

2 % Zaeier
3. oI & =W
4 % TRge

Question Number : 6 Question Id : 99836718310 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the given options 3 pairs of words are similarly related and one pair is differently related. Find the pair
which is differently related.

Options:

1. % Cock: Hen
2. % Bull : Cow
2. % Dog : Eitch
4. 9 Lion : Cub

Question Number : 6 Question Id : 99836718310 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Eqnqé?amﬁﬁmﬁfﬁS TaTET TH &9 & Greied 2, & U FIET 6T 908 O Ga12d 5] S0 8! & o T AT SAAT aHg F

Options:

1. % guf: gt
e -
3. % gy Fidar

4 & 3T OgaTEE

Question Number : 7 Question Id : 99836718311 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



Select the option that is related to the third term on the same basis as the second term is related to the first
termn.

OTL  LGO - ZTR . ¥
Options:

1. % ATIS

2. % EVT

3. ¥ AGI

4, % CWII

Question Number : 7 Question Id : 99836718311 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
I Toiey 1 = e SA1 d 1 g I AR F el 2 e W R UE U e o Hered gl

QTL : LGS ETR 7
Options:

1. % ATIS

2. % EVT

3. ¥ AGI

4. % ZWII

Question Number : 8 Question Id : 99836718312 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the option that is related to the third term on the same basis as the second term is related to the first
TermmL

Eves winlk = Lips . 7
Options:

1. % Eat

2. % Pair

2. ¥ Smmile

4. % Shout

Question Number : 8 Question Id : 99836718312 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
9 oo T 2 B ST A 1 U & I W | Wl e W gE UE UEe Ue | HellHd gl

M OeAw - Fla 7
Options:
1. % wrafr

2. % FIET

3. ¥ gEgEEr
4. & Reamr

Question Number : 9 Question Id : 99836718313 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



From the given options find a pair of letters which is analogous to the given pair.

DEY : ECW
Options:

1. ¥ OBD : MZE
2. ® L¥4  UGR
3. % PCE: FFE

4. % QDF : DER

Question Number : 9 Question Id : 99836718313 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Ty Ty et & & arat o U ST Y A e, S AT Y S & Sew 8

DEY : BCW
Options:

1. % OBD : MZE
= % LYA  UGE
3. % PCE: PFE
4. % CQDF : DER

Question Number : 10 Question Id : 99836718314 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
If EUFPHORIA is coded as HESKRULD, then SILEMCE will be coded as

Options:

1. % VLOFRGH
2. % TIMFODF
2. % TENFODF

4. % VLOHOQFH

Question Number : 10 Question Id : 99836718314 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
4fg EUPHORIA @1 HYSKRULD & &0 § feaeg am w71, 97 SILENCE T

Options:

1. % YVLOFRGH
Z % TJMFODF
3. % TENFODF
4. ¥ VLOHQFH

Question Number : 11 Question Id : 99836718315 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In a certain code language, 1248 means 'that dress is nice', 1235 means 'dress that little doll' and 4589 means
'this doll is nice'. Find the code for 'this'.

Options:
1. %5
2 %3



3% 4
4 ¥ g

Question Number : 11 Question Id : 99836718315 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T TedT Fig AT H, 1248 @7 et § "that dress is nice', 1235 &7 arf § 'dress that little doll' 3T 4589 &7 35f § 'this
doll is nice'| ' this' % 77 ®ig I

Options:
1. %5
2. % g
3% 4
4.9 3

Question Number : 12 Question Id : 99836718316 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Here are some words from an artificial language.

'‘Pixdav' means 'sometime’

'‘pixrier' means trneline

'merkul' means 'lineman’

hich word would mean 'mmankind'?
Options:

1. % dawtern

2 % solkul

2. % nerleq

4. % diwpix

Question Number : 12 Question Id : 99836718316 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
ARt U FOH W G g AT T A

'pixdav' w7 arf § 'sometime"
'pixner' 7 39 T timeline'
'nerkol @7 37 § linermnan'
ToreT aleg T 27 ‘mankind' 7
Options:

1. * dawvtern

2. ¥ solkul

2. % nerleq

4. % diwpix

Question Number : 13 Question Id : 99836718317 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



Arrange the following words as per order in the English dictionary and choose the third word.

1. MENARCHE
Z. MEMORISE
. MEMNACING
4. MEMISCUS

4. MEMSWEAR

Options:

1. ¥ MEMARCHE
2. % MEMORISE
2. % MEMNISCUS

4 % MEMNACING

Question Number : 13 Question Id : 99836718317 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
FEAET qeal B TS Teami & FH & ATAR TR T o T Jeg o

1. MENARCHE
Z. MEMORISE
. MEMNACING
4. MEMISCUS

4. MEMSWEAR

Options:

1. ¥ MEMNARCHE
2. % MEMORISE
2. % MEMNISCUS

4 % MEMNACING

Question Number : 14 Question Id : 99836718318 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
If the 13th of a month falls on a Monday, 26th of that month will fall on which day of the week?

Options:

1. * Saturday
2. * Friday

2. % Thursday
4. ¥ Sunday

Question Number : 14 Question Id : 99836718318 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

At Tt R T 13 T 0GR & USd1 8, 97 39 Ui &l 26 TR qa1g & e T u2ify
Options:

1. % givEr

2. % gEar

3. ® TER

4  TEw

Question Number : 15 Question Id : 99836718319 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25

F described his relation with O by saying that < was her father's father's wife's daughter-in-law. If P's father
has no siblings how is G related to F?

Options:

1. * Daughter
2. % Wife

2. % Sister

4. ¥ Mother

Question Number : 15 Question Id : 99836718319 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
P < Q o | 30 Felel T i Ig g Y (A Tof G I 04T o Ul 1 ofg o Al P o 07 1 1g W -agd A5l g, a1, P
TRy HepTE TFITeT 27

Options:
1. % g2t
= % Ot

3. % wgd
4. umar

Question Number : 16 Question Id : 99836718320 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

&, B, C, D, Eand F are sitting in a circle facing the centre. &4 is sitting opposite to F. D and E are neighbours. E
is not opposite to D and C is to the left of F. Who is to the Left of B?

Options:
1. % 4
2 W F
3% C
4 % E

Question Number : 16 Question Id : 99836718320 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
AB CDEYNFITF ORI e O@R do gl A FH EMF a8 D dRE =T A E, D F Mg i derg iR C, F
FAE AR B a»rErn;raTc:».ra»ﬂ:r%?ﬂg

Options:
1. % 4
2 WF
3%
4 % E

Question Number : 17 Question Id : 99836718321 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Theletters E, ©, T, U, N & G are numbered 1, 2, 3, 4, B & & respectively. Select that combination of numbers so
that letters arranged accordingly, form a meaningful word.

Options:
1. % B43125

2. % 524361



3. % 654221
4 ¥ 325641

Question Number : 17 Question Id : 99836718321 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
MFTE, O, T, U, NG FAS 1, 2, 3, 4, 5 7 6 afFr 31 Geaqrdl & 36 G 07 =2 T G100 R & SJaN cadiesd 5
A U AR deg &9 g

Options:

1. % 642125
2. % 524361
2% 554231

4. ¥ 225641

Question Number : 18 Question Id : 99836718322 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The statements below are followed by two conclusions labelled [ and II . Assurming that the information in the
staterments is true, even if it appears to be at variance with generally established facts, decide which conclusion
(5] logically and definitely follow(s) from the information given in the statements.

Staternents:
[. &l] doctors are singers.
II. All Singers ara counsellors.

COonclusions:
. Some counsellors are Singers.
II. Some doctors are counsellors.

Options:

1. % Only conclusion I follows

2. * Only conclusion I follows

2. ¥ Both conclusion [ &I follows

4. % Meither conclusion I nor I follows

Question Number : 18 Question Id : 99836718322 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

<er g oy et # 1 ST 1L S i ar e Ry ) o w3y T et & S ae € el € Ay e o R st gt
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II. g7 Riftreas wmdemT 21

Options:

1. % et Tmepd 1 SI e &ear g

2. % o Teay 11 SIe #aT &

3. gt ey 1 R I ST o &

4 % 0Ty 1 o TR e aaT g



Question Number : 19 Question Id : 99836718323 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Read the given statement and conclusions carefully and decide which of the conclusions logically followi(s)
from the staternent.

Staternent: More parents are now giving more pocket money to children below the age of 12 years.

Conclusion | : Spending power of children below the age of 12 years segment has increased.
Conclusion II : Children of this generation are more conservative as cormpared to children of earlier generation.

Options:

1. % Only conclusion I follows

2. % Only conclusion I follows

2. % Both conclusion [ &I follows

4. % MNeither conclusion I nor 11 follows

Question Number : 19 Question Id : 99836718323 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
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Options:

1. et Tomepd 1 SIeo &eaT g

2. % el Ty 11 SIE ®ar g

3 % gt ey 1 e 11 argaeo o &

4 % TR 1 & T g1 Se @idr g

Question Number : 20 Question Id : 99836718324 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
Which two 5igns should be interchanged to make the below equaticon mathernatically correct?

Bx34+2d-6-5=2E
Options:
1.9 -

2 0% - =

3%+, =
4. % - 4

Question Number : 20 Question Id : 99836718324 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TR T T T S I € | W@l e o Ty T 2 g @ I S I @t A

Bx3+2d+6-5=2E
Options:



1.¢ - x

2% - =

W 4 =
4. % - 4

Mental Ability 2

Group Number : 2
Group Id: 998367651
Group Maximum Duration : 0
Group Minimum Duration : 0
Revisit allowed for view? : No
Revisit allowed for edit? : No
Break time: 0
Group Marks: 20
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0
Merital Abilitv 2
Section Id : 998367772
Section Number : 1
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questionsto be attempted: 20
Section Marks: 20
Display Number Pane: Yes
Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 998367984
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 99836718325 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which two numbers should be interchanged to make the below equation mathernatically correct’?

12+6x323-48 +4 =20
Options:
1.¥ 324

2 ®E 12
3% 412
4 % 12,48

Question Number : 21 Question Id : 99836718325 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25

et oy T ST T i S R e o TR T 37 Seelt T e ST N T ST TR
lz2+Exs3-48 +4 =20

Options:

1.9 324

2 % g1z

2% 412

4 % 1248

Question Number : 22 Question Id : 99836718326 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the option that is related to the third term in the same way as the second term is related to the first term.

365025607
Options:

1. % 280

2. ¥ 290

2% 3200

4. % 270

Question Number : 22 Question Id : 99836718326 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
9 e T = e ST S T UG I W | Wered g e W O GEeT U Uge U o Gere gl

36500 2567
Options:

1. % 280

=z ¥ 230

2% 200

4 % 270

Question Number : 23 Question Id : 99836718327 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
A narnber series s given here, only one number is WEONG i the series, find out the WIOIZ ruarrnber:

124, 215, 244, 511, 725, 999
Options:

1. % 511

2. % 999

3. ¥ 344

4 % 215

Question Number : 23 Question Id : 99836718327 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



T T ST AT o TS o, 4T H a0 UF JEdT AT &, Tod Gl &1 J1d B

124, 215, 244 511, 728, 2949
Options:

1. % 511

2. % 999

3. ¥ 244

4 % 215

Question Number : 24 Question Id : 99836718328 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

ot of the given options, three are similar in a certain manner. However, one option is NOT like the other three.
Select the option which is different from the rest.

Options:
1. % 120
2 ¥ 100
3% G0
4 % 90

Question Number : 24 Question Id : 99836718328 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

%qn%ﬁaﬁ—nﬁﬁﬁ 1 Ter TS Fir & TR 2 §TAT, U [ded ST o 4 o aXg Agl 51 39 e 7 = & AT aTeel &
STETT

Options:
1. % 120
=z ¥ 100
2% B0
4. % 90

Question Number : 25 Question Id : 99836718329 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Complete the fOllOWiﬂg Tuarmber Series:

35, 48, 63, 80, 29,
Options:

1.% 121

2. % 122

3.9 120

4 % 123

Question Number : 25 Question Id : 99836718329 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
=5, 48, B3, 30, 99,
Options:



1. % 121
2 % 122
3.9 120
4 % 1232

Question Number : 26 Question Id : 99836718330 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Select the option that is related to the third term on the same basis as the second term is related to the first
termn.

222 1998 407 . 7
Options:

1. ¥ 3683

2. % 18E9

3. % 1881

4 % £3326

Question Number : 26 Question Id : 99836718330 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
9 e T e e ST S e UG I FR T | Wl g e W | gE uE g Ue o HeltHd gl

2220 19598 . 407 Y
Options:

1. ¥ 3663

2. % 1889

2% 1881

4. ® £326

Question Number : 27 Question Id : 99836718331 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Find the rmissing riumber in the given number series.

1,1,2 3, 7,8, 12
Options:
1.¥5
2. % 4
3% B
4 % 7

Question Number : 27 Question Id : 99836718331 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
ST TS EET el § o HEdT i AT he

1,1, 2 3, 7,8, 12
Options:
1.¥5



2% 4
%6
4 ® 7

Question Number : 28 Question Id : 99836718332 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
If 4#2 = 16, 2#E5 = 24, 1#7=14 then find the value of 5#3.

Options:
1. ¥ 20
2 % 15
3% 8
4 % 20

Question Number : 28 Question Id : 99836718332 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
qfe d#2 = 16, 2#6 = 24, 147 = 14 § a1 S#3 &7 Gra A1d F4

Options:
1.9 20
2. % 15
%8

4 % 20

Question Number : 29 Question Id : 99836718333 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Cut of the given number pairs, three are similar in a certain manner. However, one pair is NOT like the other
three. Select the pair which is different from the rest.

Options:

1. % 2E, 41
2. % 42 57
3. ¥ 37, G2
4 % 35 50

Question Number : 29 Question Id : 99836718333 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
1. % 26, 41

2. % 42 57
3. % 37,53
4 % 35 50

Question Number : 30 Question Id : 99836718334 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



In the following figure, triangle represents consultants, square represents poets, circle represents Indians and
rectangle represents wormen. Which set of letters represents Indians who are poets?

Options:
1. ¥ EF
2. % HF
3. % ID
4 % AH

Question Number : 30 Question Id : 99836718334 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
1. ¥ EF
2. % HF
3 % 1D
4 % AH

Question Number : 31 Question Id : 99836718335 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

which of the following Venn diagrams best represents the relationship between horses, marmmals and
dormestic anumals?
Options:

/ "\
i -
I_.f” W,
&
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,;f /”

.K'

1. %



4. v \/

Question Number : 31 Question Id : 99836718335 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
7\
N
| _." .I
1w N

4. v \//

Question Number : 32 Question Id : 99836718336 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25

& footballer is practicing on a field. He is facing South-East direction. He then turns 135 degree in the anti-
clockwise directior, then 90 degree in the clockwise direction and then turns 90 degrees to his right. Which
direction is he facing now?

Options:

1. % IMorth
2. % East

2% West

4 % South

Question Number : 32 Question Id : 99836718336 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
1. % g7

2 %
3. % gEm

4. igr

Question Number : 33 Question Id : 99836718337 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Two cars C and D start from the same point on a highway. Car C travels North 27 km and then turns right and
trawvels 12 lan. In the meanwhile car D travels 11 km South, then 12 km West, then 14 kan South , then it turns
left and travels 26 km. Where is car C with respect to car D7

Options:

1. % 18 km South
2. % 18 kmMNorth
2. % 52 km South

4. % 52 km Morth

Question Number : 33 Question Id : 99836718337 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % 18 ke Irgm
2 % 18 km 39
% % 52k ZiEm
4. ¥ 52 km 39X

Question Number : 34 Question Id : 99836718338 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



Choose the option which completes the series given in the question figure.

1 N ?
o |/ =

Options:

o

Question Number : 34 Question Id : 99836718338 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 35 Question Id : 99836718339 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
select the irmage that 15 related to the third image on the same basis as the second image is related to the first

image.
Y [ N ] L ]
™ | N @ ® ?
Options:
1. %
2




Question Number : 35 Question Id : 99836718339 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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a
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Question Number : 36 Question Id : 99836718340 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



& figure series of & parts is given. Out of these 4 parts are labelled 4B, C and D. One of these 4 parts is
incorrect. Find the incorrect part.

+ X | o I+ X
oOT e 1L O = (OT -
;| =200 +| X -|1-0
a b C d
Options:
1.8 4
o ®E
=V C
4 %D

Question Number : 36 Question Id : 99836718340 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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a b C d
Options:
1. % 4
= ®E
3.V C
4 %D

Question Number : 37 Question Id : 99836718341 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

If a cube is painted green on all sides and if it is cut into 27 smaller cubes then how many such cubes will
hawve 3 sides painted green’?

Options:
1. % 12
2. ¥3
3% B
4 % 16

Question Number : 37 Question Id : 99836718341 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % 12

2. ¥ 3



3 % g
4 # 15

Question Number : 38 Question Id : 99836718342 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
From the given answer figures, select the one in which the question figure is hiddern fembedded.

Options:
VAR
/N /N

1. ¢

o W

\Vi

Question Number : 38 Question Id : 99836718342 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 39 Question Id : 99836718343 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



If a rmmirror is placed on the line MM, then which of the answer figures will be the right mirror image of the
given figure?

-
Q_/

Options:

1. % EZ

A

D

-

o W

-

Question Number : 39 Question Id : 99836718343 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:




Question Number : 40 Question Id : 99836718344 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
what is the minirmum number of straight lines required to draw the given figure?

Options:
1. % 10

o %11
3 ¥ 1z
4 % 13

Question Number : 40 Question Id : 99836718344 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
1. % 10

2. % 11
3.¥ 12
4 ® 13

erneral Avwarensssl

Group Number : 3
Group Id: 998367652
Group Maximum Duration : 0
Group Minimum Duration : 0
Revisit allowed for view? : No
Revisit allowed for edit? : No
Break time: 0
Group Marks: 20
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0

General Awarernessl

Section Id : 998367773

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions; 20

Number of Questionsto be attempted: 20

Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 998367985
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 99836718345 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The performance of Alkap has _____ interesting parts and often conwveys the living conditions of rural Eengal.



Options:
1. % six
= % four
3. % three

4 ¥ five

Question Number : 41 Question Id : 99836718345 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
1. % gy
2. % gx
2 % dH
4 ¥ U

Question Number : 42 Question Id : 99836718346 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Performed mainly by the women folk, 15 usually sung during childbirth.

Options:
1. ¥ Sohar

2. % Domlkach
3. % Panihari

4. % Thumar

Question Number : 42 Question Id : 99836718346 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. ¢ @iy

2. ® ZReT

= % giEmr

4 * Y

Question Number : 43 Question Id : 99836718347 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Chhath Puja is celebrated after one weelk of Diwali to worship God

Options:
1. 9 Sun

. % Moor
3. % Stars

4. % Rain

at the bank of river or pond.

Question Number : 43 Question Id : 99836718347 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. v g

o ® T

3 % gR

4. % Frfear

Question Number : 44 Question Id : 99836718348 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The famous Elephanta Caves were built by

Options:

1. % Cholas

= % Palas

2. ¥ Rashtrakutas
4 % Guptas

Question Number : 44 Question Id : 99836718348 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % g

2. % uureg

3. ¥ mEE

4. % AT

Question Number : 45 Question Id : 99836718349 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
__________ was the first bank to open it's branch in China.
Options:

1. ®* Bank of India

= # Central Bank of India

3. ® Canara Bank

4 % State Bank of India

Question Number : 45 Question Id : 99836718349 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % ofer offe gl

o % Fzer do SiiE LiEA
3 % Frdw

4 & gRAg T dF

Question Number : 46 Question Id : 99836718350 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25
Gross Mational Froduct = Gross Dornestic Product +

Options:
1. % Depreciation

2 % Indirect taxes
= % Det Factor Income from Abroad
4. # Subsidy

Question Number : 46 Question Id : 99836718350 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % frag

2. % SN E

3. ¥ Taea o Hae w e o
4. TrEREET

Question Number : 47 Question Id : 99836718351 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Wwhen was the Interim Budget of 2019-20 presented?

Options:

1.9 1st Feb 2013

2. % 1stMarch 2019
3. % 1st Jan 2019

4. % 1st April 2019

Question Number : 47 Question Id : 99836718351 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1.9 1 BT 2019
2. % 1A- 2019

3 % ] S 2019
4. % 1 M@ 2019

Question Number : 48 Question Id : 99836718352 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Motion of asroplane is an example of

Options:
1. * circular

gglalaleigl

2 % linear
2. % random

4. % translatory



Question Number : 48 Question Id : 99836718352 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % gl

2 ® Yaw

3. % agRaw
4 EEig

Question Number : 49 Question Id : 99836718353 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What i5 the chermical name of washing soda”

Options:

1. % Sodium carbonate
= % Calciurn carbonate
3. % Alurminium oxide

4. % Sodiurm hydrosxide

Question Number : 49 Question Id : 99836718353 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
1. Qitz=am s
o, % Fieiay wEie

3. % UMW aeEEs
4 % gifz=m AR X

Question Number : 50 Question Id : 99836718354 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
___________ is commonly knowr as sea walnuts.
Options:

1. # Aschelrminthes

= % Ctenophora

3. #® Annelida

4 % Cnidaria

Question Number : 50 Question Id : 99836718354 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % geheibed
2 o TEAmmRT
3. ® HET
4 % faETiean



Question Number : 51 Question Id : 99836718355 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Yolvox is a cormmonly found _________
Options:

1. % red

2. ® plue

3. ¥ green

4. % brown

Question Number : 51 Question Id : 99836718355 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % ®e
o ® @
3. W BT
4. % a7

Question Number : 52 Question Id : 99836718356 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The upper most layer of the atmosphere is
Options:

1. % exosphere

Z. ® mesosphers
3. % stratosphers

4. % thermosphers

Question Number : 52 Question Id : 99836718356 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. FmEHEa
2. ¥ mEmEd
= % grgmHEA
4, % gmHEa

Question Number : 53 Question Id : 99836718357 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The rural component of the Swachh Eharat Mission is implemented by
Options:

1. ® Ministry of External Affairs

2. % Minister of Social Justice and Empowerment

3. % Ministry of Home Affairs



4. % Ministry of Drinking Water and Sanitation

Question Number : 53 Question Id : 99836718357 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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= % 1E AFEE

4. & T 3T TeeadT AT

Question Number : 54 Question Id : 99836718358 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Only of all the water on Earth is fresh water.

Options:

1. % 0.0325
2. ¥ 0025
3. % 0075

4. % 00525

Question Number : 54 Question Id : 99836718358 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
1. % 00325

2. ¥ 0025
3. % 0.075
4 % (00525

Question Number : 55 Question Id : 99836718359 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which among the following disease is not caused by mosquito?

Options:

1. ® Dengue

2. % ellow Fever
3. % West MNile Fever
4. % Rabies

Question Number : 55 Question Id : 99836718359 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % 27

2 % digwat



3. % ger AEd A
4 & e

Question Number : 56 Question Id : 99836718360 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which among the following is not a tributary of Yamuna river?

Options:

1. # Sindh

2. % Betwa

3. % Charmibal

4 ¥ Kosi

Question Number : 56 Question Id : 99836718360 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % &y

2. ® ggar

3 ® e

4. it

Question Number : 57 Question Id : 99836718361 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Sunda Strait joins Java sea and

Options:
1. ¥ Arctic Ocean

2. % Indian Ocean
3. * Pacific Ocean
4. % Atlantic Ocean

Question Number : 57 Question Id : 99836718361 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % JUTeE AEany
2. ¥ BT AgmTT

% % [T AR

4, ¥ EAE HETETT

Question Number : 58 Question Id : 99836718362 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The highest peak of Satpura mountain range is Dhupgarh with an height of 1,350 min

Options:
1. ® Gujarat



2. % andhra Pradesh
2. ¥ Madhva Pradesh
4 % Maharashtra

Question Number : 58 Question Id : 99836718362 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % TR
2. % I
= o meg U
4. % mErTE

Question Number : 59 Question Id : 99836718363 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Most of the Deccan is occupied by

Options:
1. ¥ Elack Soil

2. % Red Soil
%% Alluvial Soil
4 % Laterite Soil

Question Number : 59 Question Id : 99836718363 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. & FHE T

= % e gar

3. % Ui gar

4, ¥ FEET gar

Question Number : 60 Question Id : 99836718364 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The Kingdom of Bhutan does not share its border with which of the following states?

Options:

1. # Sikddm

2. % Arunachal Pradesh
3. ¥ Nagaland

4 % Assarm

Question Number : 60 Question Id : 99836718364 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:




1. % &Ega

2 % ST e

3. ¢ AEE
4. % ameg
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Question Number : 61 Question Id : 99836718365 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Apart from Kerala, i5 a major rubber producing states.

Options:

1. % Tarral Madu
= % West Bengal
3. ¥ Bihar

4 % Assam

Question Number : 61 Question Id : 99836718365 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. & i 18
2 ® O ama
3 % W

4. % 3@

Question Number : 62 Question Id : 99836718366 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Ol 28 December 1825 Indian Mational Congress was founded in the premises of Gokuldas Tejpal Sanskrit
sSchool at

Options:

1. # New Delhi
2. % Kolkata
2. % Bangalore

4 % Mumbai

Question Number : 62 Question Id : 99836718366 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
o8 ToHaT 1885 F ARG TP FIUR i T

Options:

1. % 8 Ted
2. % wicdAwEr
3. % Jar
4  gag

________ H TG dauTe Hegd e & afeat § &1 me &

Question Number : 63 Question Id : 99836718367 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Chittagong Armoury FEaid was led by revolutionary

Options:

1. ¥ Surva Sen

2. % Mahatma Gandhi

2. % Chandrasekhar Azad

4. % Sachindra Nath Sanvyal

Question Number : 63 Question Id : 99836718367 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T ST ST T "qcd ®iad CREZIEN

Options:

1. ¥ ghdaa

2. % mErenT et

3. ¥ dgdray e
4 R gEfiEamT g

Question Number : 64 Question Id : 99836718368 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25
_________ is best known as the author of Hurmayun Mamah.
Options:

1. * MNoor Jahan

2. ¥ Gulbadan Begum

3. % Murmtaj Mahal

4 % Rahia-ul-Daurani

Question Number : 64 Question Id : 99836718368 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
_________ T GHT H: o ol o & H S g

Options:

1. % gt

2. & e =T

3. % gAd HgA

4. % yiEET-IAa-gNEr

Question Number : 65 Question Id : 99836718369 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Who introduced the silver tanka and the copper jital - the two basic coins of the Sultanate period, with a
standard weight of 175 grains?

Options:

1. ¢ Iltutmish
2. % Babur

2. % Hurmayun

4. % Jahangir

Question Number : 65 Question Id : 99836718369 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
175 ST % ST o HIFe o o 1, Ta] 21T S diel 1 SAae— Aed-a F1e & gl Tl 4! w1 e dar T o

Options:

1. ¢ soqather

o % g

3. % g
4, ® FET

Question Number : 66 Question Id : 99836718370 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Eabur defeated in the Battle of Chanderi.

Options:

1. % Rana Sanga
2. % lbrahim Lodi
2. ¥ Medini Rai
4. % Iltutrmish



Question Number : 66 Question Id : 99836718370 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
e F g H AR T __________ B

Options:

1. % o &
2. % geTieH ART
3. ¥ Al T
4 % gogarHy

Question Number : 67 Question Id : 99836718371 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Who was the first FMughal ruler to become East India Cormpany Pensioner?

Options:

1. % Shah Alam [
2. % Shah Alam 1
3. ® Akbarll

4. % Alamgir

Question Number : 67 Question Id : 99836718371 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

SET SIEAT AT AT & STAT UEAT G ST ®H1 2017
Options:

1. % 9mg Aer |

= ¥ g ATEA 11
3. % amer (1
4 * gmj-ﬁ-(

Question Number : 68 Question Id : 99836718372 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The Village by the Sea’ is written by

Options:

1. % Raja Rao

2. ¥ Anita Desai
2. % R. K. Maravan

4 % Salman Fushdie

Question Number : 68 Question Id : 99836718372 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Tiemamgd BT TRt T R

Options:
1. ® T 19T

o & aET 2Ee
2 % W % AT



4. % goAm Bagt

Question Number : 69 Question Id : 99836718373 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
All Round View' is the autobiography of

Options:

1. ¥ Imran Khan

2. % Wasim Akram
= % yuvraj Singh
4 % Sunil Gavaskar

Question Number : 69 Question Id : 99836718373 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

et T2 = ! T TR 8]
Options:

1. ¥ T g

2. ® g ey

3. % g g
4. % AT MaEa

Question Number : 70 Question Id : 99836718374 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Wwhat is the real name of Swami Vivekananda?

Options:

1. # Gadadhar Chattopadhvay
2. ¥ MNarendra MNath Datta

Z. % Ealaji Janardan Ehanu

4. % Dhanpat Rai

Question Number : 70 Question Id : 99836718374 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TATAT T e, 1 aTed (e =ITH 47 57

Options:

1. % TIETER SO
2. ¥ qlg e

3. ¥ AT TG W
4 ® eAuT T

Question Number : 71 Question Id : 99836718375 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
UNIDO stands for

Options:
1. ¥ United MNations Industrial Developrment Organization

2. % United National International District Crganisation



= % United MNational Innovation Drirectory Organisation

4. ¥ United Nations Innovation Development Organization

Question Number : 71 Question Id : 99836718375 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

ST (UNIDO) w7 et __________________ 2l
Options:

1. ¢ AEEZ A9 ST SanuHe si-Tgae

2. % AT JIAH Sei-aHd TS Eaede AMAE-a
3. ¥ AT AN TSI ST HTATEAA

4, # FAELZ A AT SAATHT ST

Question Number : 72 Question Id : 99836718376 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The first scunding rocket is launched from Thurmba Equatorial Rocket Launching Statiorn in

Options:

1. % Gujarat

2. % Karnataka
2. ¥ Kerala

4 % Tamil Madu

Question Number : 72 Question Id : 99836718376 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TR AT adT b _________ H 2T S e e wliwelTT £ 3 © Fledl T2 T 2]

Options:

1. % TR
2 ® Fdiew
3. v

4 % FHAAE

Question Number : 73 Question Id : 99836718377 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Sunil Chhetrireceived _________ in 201% for his contribution in the field of football.
Options:

1. ® Padma Vibhushan

2. % Padma Bhushan

2. ¥ Padma Shree

4 # Bharat Ratna

Question Number : 73 Question Id : 99836718377 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
AT G341 B Geatd & a7 H 3 amgm & g 20198 _________ HTH g

Options:

1. % oy femgmr



2. % T
3. ¢ wEEl
4 % ORI

Question Number : 74 Question Id : 99836718378 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Part _________ of the Indian Constitution deals with the scheduled and tribal areas.
Options:

1. % Part VIII

= * Part[¥-B

2 ¥ Part ¥

4 % Part V1l

Question Number : 74 Question Id : 99836718378 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

AT o AT @ _________ ATART & T T &3 | HaAreT 2l
Options:

1. % 9 VIII

2. % qUTlN-B

3.9 aH

4 % Tyl

Question Number : 75 Question Id : 99836718379 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which chapter of Part ¥II of Constitution of India deals with borrowing?

Options:

1. % Chapter]

= ¥ Chapter I1
3. % Chapter III
4. % Chapter IV

Question Number : 75 Question Id : 99836718379 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

AT o HITT o W7 K11 &7 1 A7 ST W of+ & TareT 27
Options:

1. % &l

2 % a1l
3% eIl
4 % eIV

Question Number : 76 Question Id : 99836718380 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
FPart of the Indian Constitution deals with the elections.

Options:



1 ¥ HV
2. % HIII
3. % HIV
4. % ¥¥

Question Number : 76 Question Id : 99836718380 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T 127 | T 9T AT & FaEET gl

Options:
1.9 HY

2. % HIII
3. % HIV
4. % ¥¥

Question Number : 77 Question Id : 99836718381 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What 15 the rrinirmarm age to be electad as a mernber of Panchavyat?

Options:

1. ® 25 vears
z ¥ 21 years
3. * 26 vears
4. % 28 vears

Question Number : 77 Question Id : 99836718381 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

TN o Aaed & & 0 o= F1 o ol =Aa T oI &7 27
Options:

1. % 25

o W o1 gy
S % op o
4 ® ogaf

Question Number : 78 Question Id : 99836718382 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
___________ was the only team in the whole tournament which could not win a single match in the World Cup

Options:

1. ® EBangladesh
= ¥ Afghanistan
3. ® Pakistan

4 % Ayustralia

Question Number : 78 Question Id : 99836718382 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



___________ ¥ gt o TATT T ot A1 g w2019 8 U ot # 98t ST |k ofh
Options:

1. % Fmandar

2. ¥ aTRITHETT

3. ¥ uieea

4, % affedierr

Question Number : 79 Question Id : 99836718383 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
India has hosted the Commonwealth Games first time in inn 2010,

Options:

1. % Delhi

2. % Murbai
3. ¥ Kolkata

4. % Bangalore

Question Number : 79 Question Id : 99836718383 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
IRFF2010H _________ H U5l oW TEAS S WeAt o HaAat=r ot 20

Options:

1. ¥ Tamel
2 % gag
3. ® wiEwTar
4 R FIER

Question Number : 80 Question Id : 99836718384 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Wwhich country won the masxirmuam nurmber of gold medals in the first Olympic?
Options:

1. % England

2. % Greece

3. % France

4 % TInited States of America

Question Number : 80 Question Id : 99836718384 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TRTH A0S # e Zor = Faitee @t g2 197

Options:

1. ¥ gl

2. % g

3 ¥ mE

4, T T ST



Arithrmetic Abalityl

Group Number : 5
Group Id : 998367654
Group Maximum Duration : 0
Group Minimum Duration : 0
Revisit allowed for view? : No
Revisit allowed for edit? : No
Break time: 0
Group Marks: 20
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0

Arithmetic Abilityl

Section Id : 998367775

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number : 1
Sub-Section 1d: 998367987
Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 99836718385 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

& farmer raises chickens and horses on a farm In tofal, he has 51 animals whereas the total number of legs
are 156, Find the number of horses he has?

Options:
1. % 21
2 % 24
3.9 27
4 % 30

Question Number : 81 Question Id : 99836718385 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
m%mmﬁﬁgﬁaﬁfﬂﬁﬁaﬁm% oA THFATRY, Id U 51 FHe) &, el 0X1 @1 Fel 9eaT 156 81 I8k 0T

Options:
1. % 21

2. % 24
3. ¥ 27
4. % 30



Question Number : 82 Question Id : 99836718386 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What 15 the largest 4 digit number divisible by 4, 5, 6 and 127

Options:

1.9 9980
= % 9990
3. % 9300

4. % 9680

Question Number : 82 Question Id : 99836718386 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
4, 5, 6 3% 12 ZWT IO Gad 9271 4 ST & Tg7 747 57

Options:

1. ¥ 93980
2. % 9990
3. % 9900
4 % 9880

Question Number : 83 Question Id : 99836718387 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Find the value of:

IEE x4+ 21)+5-30xZ+4="7

Note: For this question, discrepancy is found in question/answer. So,this question isignored for all
candidates.

Options:

1.20

2 22

3 18

4. 19

Question Number : 83 Question Id : 99836718387 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Tl FATT FY

11EE x4+ 21) - 5-30xZ2+4="

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for al
candidates.

Options:

1. 20

2 22

3 18

4. 13

Question Number : 84 Question Id : 99836718388 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25
Find the value of x for which |2x + §| is mininmrm?

Options:
1. %2
2. % -2
3. %3
4 ¥ -3

Question Number : 84 Question Id : 99836718388 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

% W rd A @, FAEed W | 2x + 6| ~gAan g7
Options:

1. %2

2. % -z

3% 3

4 ¥ -3

Question Number : 85 Question Id : 99836718389 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Find the value of x.

F X3+ =B+ +4E=xE+x =105

Options:
1. % 8
2. % 16
3% 24
4 % 20

Question Number : 85 Question Id : 99836718389 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
X O AT F:

79+ xB+E+4E<E +x =105
Options:
1. %8
2. % 16
¥ 24
4 % 20

Question Number : 86 Question Id : 99836718390 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Simplify: (216 =271 x (72 +9) ="
Options:

1.9 54



2. % 49
3. % 81
4. % 100

Question Number : 86 Question Id : 99836718390 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
LIEECTS

21e -2 xiyz2+9="
Options:

1.9 64

> % 49

3. % 81

4. % 100

Question Number : 87 Question Id : 99836718391 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Find the total number of factors in 46887

Options:
1. % 8
2 % 24
3% 12
4 ¥ 18

Question Number : 87 Question Id : 99836718391 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
ABE H wXRT ol ool HEAT AT FE?

Options:
1. %8
=z % 24
3. % 12
4 ¥ 18

Question Number : 88 Question Id : 99836718392 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Wwhich of the following numbers is divisible by 117

Options:
1. % 273560925

2. % 3352849251
3. % 37E2ET4912
4. ® 7345271892

Question Number : 88 Question Id : 99836718392 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



TERET A S T EET 11 9 S 27
Options:

1. % 273560925

= % B352849251

3. % 2762874912

4, % 7345271892

Question Number : 89 Question Id : 99836718393 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

If, x + v = 8 and x is greater than v by 2, then find xvy?
Options:

1. % 25

2 ¥ 15

3. % 20

4 % 10

Question Number : 89 Question Id : 99836718393 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
aﬁx+?:8,8ﬁx,?ﬁ2@%ﬁxyﬂﬂﬁﬂmﬂﬁl
Options:

1. % 25

=z ¥ 15

3. % 20

4. % 10

Question Number : 90 Question Id : 99836718394 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Simplify:
[ilz5ofz24+51+-5%1+5]1+12="
Options:

1.¥¢%

> % 25

3. % 15

4. % 10

Question Number : 90 Question Id : 99836718394 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
A L

[iz+E5®T1Z5) -5} +5]+12="7
Options:
1.¥5
2 % 25
3. % 15



4. % 10

Question Number : 91 Question Id : 99836718395 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

& watch is sold for Bs. 560 at a profit of 40 percent. If it was sold at 20 percent discount on the selling price,
what would have been the profit [loss?

Options:

1. ¥ Fs 8loss

2. % Hs. 520 profit
2. % Rs. 8 profit
4 % Rs 520 loss

Question Number : 91 Question Id : 99836718395 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T AT 40 WIS % /0 U 560 T # S AT 31 Al 59 B Upd W 30 Wiadd & T U S ST § 91 AT e g

Options:

1. 5 #7051
2. % L20 & @
Z% BET AT

4, % 520 w7 g

Question Number : 92 Question Id : 99836718396 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

If a store sold 20 iterms of which half the iterms were sold for twice the selling price of the rest, then what was
the average sale price if the selling price of the cheaper items was Es. x per iterm?

Options:

1. % Rs 125x
2 ¥ Rs 15x
3. % Rs 1.75x

4 % H5 2x

Question Number : 92 Question Id : 99836718396 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25

T T = 30 Fequ s, FAH & Simell aeq smehl @ oo Grd | ST g UF sl TS1 i ST el i ek @ ded x
B Wi e T, A1 S TelshT Hdl o 217

Options:

1. % 125y &

2 ' 1.5x 70y

3. % 1.75x w00

g W Dy w

Question Number : 93 Question Id : 99836718397 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Jones retired by getting out after scoring 10 runs in his last match with a batting average of 99 after playving
40 matches. How much should he have scored in his last innings to achieve a batting average of 1007



Options:

1. % 211 runs
2. % 100 runs
2. ¥ E0runs
4. % 1run

Question Number : 93 Question Id : 99836718397 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

S = 2 AT B H 40 T a9 & 1S 99 W dectaal AT & q1T 10 T F9E S35 T 100 & dectar=r ded
T e o Ty Ieg ST Sifay omet & T 7 a=mar =nigy are

Options:
1.% 2114
2. % 100%F
3. ¥ S0
4 % 139

Question Number : 94 Question Id : 99836718398 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

& person won elections by receiving 70 percent of the total votes, his victory margin being 80 votes. Find the
total number of votes casted?

Options:
1. % 50
2. % 100
2 % 150

4. % 200

Question Number : 94 Question Id : 99836718398 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T i = e atel @ 70 IS UTH ecr ofA1a Sidn JE@! A1 @1 Sa¥ S0 91T 9m aiel & el Jea A1 e

Options:
1. % 50
2. % 100
= % 150
4 ¥ 200

Question Number : 95 Question Id : 99836718399 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

& square of side 4 crm is cut into four equal triangles. What is the percentage of the area of each triangle
compared to the area of the square?

Options:

1. % 125 percent
= ¥ 25 percent
3. % 375 percent
4 % 50 percent



Question Number : 95 Question Id : 99836718399 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
WIEE 4 Crrl T e &l o™ AHT gt O aieT <1aT 21 a7 & Sama o qeidT § Uede g @7 Sathe o Wid o 27

Options:
1. % 125 ufdad

o % o5 gidad
3 ¥ 37 SuideT
4 % gouidag

Question Number : 96 Question Id : 99836718400 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The floor areas of the houses of 4 and B is in the ratio 2:1. A builds 50 percent extra floor area and E build 20
percent extra floor area. What is the new ratio of their floor areas?

Options:

1. % 3175
2. % 21
2% 151
4 ¥ 251

Question Number : 96 Question Id : 99836718400 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

ANREF T TGI8 21 F HE A S0 UFAT fdfes a6 87 a1 & & B 20 nidad riates a6 847 &7 =am swar
H mm&féﬁmwaﬁwwg

Options:

1. % 2175
2. 0% 21
=% 151
4 ¥ 251

Question Number : 97 Question Id : 99836718401 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

A sells 1200 kgs rice at Bs. 12/kg. His purchase price is Rs. 8/kg. He spends Rs. 500 on transport and 2
percent of selling price on rent. What is his profit?

Options:

1. ® Rs 2880
2. % Rs 2608
3. ¥ Es. 4012
4 % Rs 4444

Question Number : 97 Question Id : 99836718401 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

A 1200 kg BT 12 T kg TTad sodl 5 9% @8  rd 8 F00 kg 31 &5 500 F07 uivdg- o7 o7 6t g @7 2 nfdad
T el Gl 5, TOWT AT 7T 27

Options:
1. % ZBB0 #q7




2. % 3608 Oy
3 ¥ 4012 w0
4. % 4444 77

Question Number : 98 Question Id : 99836718402 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

& duty-free shop sells chocolate at s, 209 each for a profit of 10 percent. If the government regulates the
profit to 7 percent, what will be the new selling price?

Options:

1. ¥ Rs 20330
2. % Rs. 204.40
3. ® Es. 202.20
4 % Rs 201.10

Question Number : 98 Question Id : 99836718402 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T S 1-ThT G 10 WG9 & &9 T U oideie 209 200 H =T 31 91 @0 ord &1 7 Afdad deF aa #ed 1 g, a1 ==
Terrr Wrar =T B

Options:

1.9 20330 707
= % 204 40 %07
3. % Z0z. 2000

4. % 201,107

Question Number : 99 Question Id : 99836718403 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What 15 the cost price ofacake sold at Bs. 208 atalossof 12 percent?

Options:

1. ¥ Es. 330
2 % Rz 240
2. ¥ Rs. 250

4. % Rs 360

Question Number : 99 Question Id : 99836718403 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
12 uidera &1 511 0% 308 U § TelT et dhep 97 S IAT oraT 57

Options:

1. % 330707
= % 240 w07
3. ¥ 250 FOT
4. % ZE0 w7

Question Number : 100 Question Id : 99836718404 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



If (e+5)f(x+1)is twice of 2:3, then find (x+5).
Options:
1.% 11
2. % 4
3% 9
4. ¥ 18

Question Number : 100 Question Id : 99836718404 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
qfE (+5)/ (x+1), 2:3 FTENET 5 Al (x+5) AT F)

Options:

1. % 11

2% 4

=g

4. 9 18

Arithrmetic Alality2

Group Number : 6

Group Id: 998367655

Group Maximum Duration : 0

Group Minimum Duration : 0

Revisit allowed for view? : No

Revisit allowed for edit? : No

Break time: 0

Group Marks: 20

Revisit allowed for group Instructions? : Yes

Maximum Instruction Time: 0

Minimum Instruction Time: 0

Arithrnetic Abilityz

Section Id : 998367776
Section Number : 1
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questionsto be attempted: 20
Section Marks: 20
Display Number Panel: Yes
Group All Questions: No

Sub-Section Number : 1
Sub-Section 1d: 998367988
Question Shuffling Allowed : Yes

Question Number : 101 Question Id : 99836718405 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25
Find the ratio of x-1): s+1)if x = =23,

Options:
1.9 -5
2. %5
3. % -1/5
4 % 1/5

Question Number : 101 Question Id : 99836718405 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

({-1): {x+1) T SJUTT AT B TG % = -2/3 7
Options:

1.9 -5

2. %5

3% -1/5

4 % 1/5

Question Number : 102 Question Id : 99836718406 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

A bag has Rs. 35 in it with 25 paisa, 50 paisa and Es. 1 coins in ratio of 2:3:5. Find the total number of 50
paisa Coins?

Options:
1. % 10
2 ¥ 15
3% 20
4 % 25

Question Number : 102 Question Id ;: 99836718406 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

e ST H 35 By 25 0§ el 1 7y & [ @ argquid 2:3:5 g a1 50 U9 & gl O g aedr A e
Options:

1. % 10

= ¥ 15

3% 20

4 % 25

Question Number : 103 Question Id : 99836718407 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Find the amount if Bs. 1,50,000 is invested for 4 years at 10 percent simple interest per annum?

Options:

1. % Rs 210000
2. % Rs 190000
2. % Rs 185000

4 % Hs 170000



Question Number : 103 Question Id : 99836718407 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
fe 1,50,000 T &1 T8 Aid ¥ 10 Wiead T =37 0T 4 & 6T ek & et & 97 3 o T et 76 ST ey

Options:

1.9 210000 7
2. % 190000 s
2% 185000 T

4, % 170000 Foy

Question Number : 104 Question Id : 99836718408 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Mahesh had a surplus of Es. 100000 as on 02052018 and he invested this amount up to 11.08.2018 and
sarned simple interest of Rs. 5000, What was the rate of simple interest applied?

Options:

1. % 1850 percent
2. % 18 percent

2. ¥ 1825 percent

4 % 19 percent

Question Number : 104 Question Id : 99836718408 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

AR & UM 03.05.2018 T 100000 FUT FHET Ad o SITEe o7 3 36 I 718 11.08.2018 T T=dar & o 5000 Fu7
T HTERUT ST AT TR0 s @1 G &1 w1 &1 18 17

Options:

1. % 1850 ufdeT
2. % 18 nidea

3 ¥ 18.25 nideT
4. % 19 nidaT

Question Number : 105 Question Id : 99836718409 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The price of a camera is Bs. 600. There is an option of easy payment where the down payment is Rs. 200 and
Es. 215 is payable after & months. What is the rate of simmple interest applied in the easy payment option?

Options:

1. % 12 percent
2. ¥ 10 percent
2. % B percent

4. % 9 percent

Question Number : 105 Question Id ;: 99836718409 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T S T T 600 T B THF SR a1 &1 U deed & 300 T 1 ST G7TaT Tode 1% 6 Wei 3 &g 315 207
T YA FAT 81 STTET A Tehed H #H] @80T 52T &1 S #4757

Options:




1. % 12 ufdeT
2. ¥ 10 nideT
3 % g
4, % gnidaT

Question Number : 106 Question Id : 99836718410 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

An ant climbs a pipe of length 9 m. It goes up 5 min 1 minute and falls dowm 2 m the next minute. How much
tirne will it require to reach the top?

Options:

1. % 4min
2. ¥ Smin
2 % B min

4. % Brmin

Question Number : 106 Question Id : 99836718410 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T =A1eT 9 rr W Fells 3 WEW 0 g 1 51 oy 1 e H 5 m S0 § SR ST i 3 m AR T ST §1 3 i o agee @
Tory vt ey 1 arersereaT Enite

Options:

1. % 4 fi9e
o ¥ 5 fime
3 %5 Te
4 % g

Question Number : 107 Question Id : 99836718411 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
wIET ST STele ! B AT GO T FA o Tl WA 4 8 S e 7 § 2 kan TSI H, ST Toed i ao Sy

Options:
1. % 200m

2. % 200m
3. ¥ 400 m
4. ® 500m

Question Number : 107 Question Id : 99836718411 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Bunty and Babli take 4 & & minutes respectively 1o cover the same distance. In a 2 ki race, by what distance
will Bunty?

Options:
1. % 200m

2. % 200m
2. ¥ 400 1m
4. % 500 m



Question Number : 108 Question Id : 99836718412 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Peter completes a triathlon race by running 20 krm at 20 kmyjh, then cycling 45 kim at 20 kmfh and finally
swirnming S kim at S kimnfh. What is his average speed in this race?

Options:

1. % 18 km/h
2. ¥ 20km/h
2% 22 km/h
4 % 24 km/h

Question Number : 108 Question Id ;: 99836718412 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

WY 20 kmfh W 20 ki SI24 UF g1 g1 Q0 #edl g, e 30 kmfh & 45 ko #efod aemar 8 o sid # 5 kimfh €5
krry SRR ST 2] 50 212 B SHT ft|a Tid a2

Options:

1. % 18 km/h
2. ¥ 20km/h
3% 22 km/h
4 % 24 km/h

Question Number : 109 Question Id : 99836718413 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

& work can be completed by A, BEand Cin 10, 15 and 20 days respectively. After working together for 4 days,
& and C left. How rmuch time will B take to complete work?

Options:
1. % 4
2. % 3
V2
4 % ]

Question Number : 109 Question Id : 99836718413 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

A B S C ERTHAS: 10, 15 o 20 Tt & w9 gy Frar < a1 21 4 T3t 7 U 99 Fi g Fralg, 4 dRC T Fmoig
T E 1 &0 [T T4 § T |y e

Options:

1. % 4

o ® 3

2. ¥z

4 % 1

Question Number : 110 Question Id : 99836718414 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

& and B started a worlk: together which they could have individually completed in 14 and 10 days respectively.
If & quits work after some davs and E finishes the remaining work in 4 days, then for how many days did &
wiork’?

Options:



1. % Zdavs
Zz ¥ 3 Sdays
3. % ddays
4 % 4Edays

Question Number : 110 Question Id : 99836718414 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

A 3B 7 e uw @ g T, 9 o s FEen 14 o 10 Rt A qu s ad o 9ig A g Al Fag aM sz a1
A E 4 oAt o 3w e @y aear &, a7 A o Fpae oAt & ol = Twae

Options:

1. % 3fq
o ¥ 35T
3z % 4fF
4 % 45f29

Question Number : 111 Question Id ;: 99836718415 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Priva works two times faster than Rekha and can complete her work in 15 days. If both work together then
howe rrmch tirne will they talke to cormplete the work?

Options:

1. % 25 davs
2. % 20days
3. % 15 davs
4. ¥ 10 days

Question Number : 111 Question Id : 99836718415 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T2, ¥aT & S T[T 8 0 FA T 5 e 15 T o 21T @ [ W Gwd [ gl Jie g1 |1 W0 Fd § 9l I 0 QO wd | TR
HE FTT?

Options:

1. % 25 %29
o % 2ofeT
3 % 15T
4 ¥ 10fT

Question Number : 112 Question Id ;: 99836718416 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The surface area of a cube is 1944 5q m. Find its volurmne.

Options:

1. % 648 cum

2. % 10848 cum
3. ¥ E5R3Zcum
4 % 972 cum



Question Number : 112 Question Id : 99836718416 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

U O T A5 T A90A 1944 5q 1m 5 SHE T HTEaT A9 w
Options:

1. % 4B cum

2. % 10648 cum

3. ¥ 5E32cum

4 % 97z curm

Question Number : 113 Question Id : 99836718417 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Find the difference between the surface area of a sphere having 1 cm radius of a circle and the area of a circle
hawving diarmeter & Cm.

Options:

1. ¥ Smsgom
2. % 4msqom
3. % Zmsqom

4. % 2750 Cm

Question Number : 113 Question Id : 99836718417 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T 1 o T2T aTe e & 836 3T 6 crm =0 a6 9 & 8905 & 3T¢ JF &1

Options:

1. ¥ Smsgom
2. % 450 0m
2% 3msqom

4. % 250 Cm

Question Number : 114 Question Id ;: 99836718418 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
If the total surface area of a cone is 40w 59 om and radius is 4 om, find the slant height of the cone.

Options:

1.¥ Ecm
2. % 5com
2% 4com

4 ¥ 3cm

Question Number : 114 Question Id : 99836718418 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

e U I & Pl Hag BT HAEA 40T 50 Crn T DT 4 cm B, T A & GO A A #)
Options:

1.¥ Ecm

2. % 5amn

3% deom



4 ® 3¢cm

Question Number : 115 Question Id : 99836718419 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The pie chart shows the percentage of expenses incurred by a laptop seller in purchasing the laptops. He buys
SE00 laptops a month and incurs a total expenditure of Rs. 99 lakhs on laptop bags only, at what price should
he sell each laptop to earn a total profit of 20 percent?

Expenses incurred by a laptop seller

Options:

1. % Rs. 43,560
2. % R5.42 870
% % Rs5.43650
4. % R5.39,540

Question Number : 115 Question Id : 99836718419 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T TTE AUeT Al | aue Ty o e fomy T =i &7 wided gafar 81 95 Aai- § 5500 AT EigdT & HIX Had daeid i o
Fel 99 WG FAT Gl a1 5, 20 Wiaad fTd SIfd e & 1o Uead Aue Ty & o e O s AR
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Al tn TR
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Options:

1. % 43,560 w0
o, % 42 870 w7
3. % 43 650 70



4 ® 39540 o7

Question Number : 116 Question Id : 99836718420 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The table shows the amount of electricity consurnption i MW for &€ months from January 2018 10 June 201&
in 4 different countries. What is the ratio of electricity consurmed by Country E that by Country C in these &
months?

Months |Country A|Country B| Country C|Country D
Jan, 2018 | 175 175 125 250
Feb, 2018 | 175 200 275 275
Mar, 2018| 275 225 200 300
Apr,2018| 300 300 175 250
May, 2018| 125 150 125 400
Jun, 2018 | 125 350 200 300

Options:

1. % 10:7
o % 9.7
= ¥ 1411
4 % 15:11

Question Number : 116 Question Id : 99836718420 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TTHRT 4 SIEAT- ST ot #§ SHert 2018 § 97 2018 TF 6 HgiH & oy (W H) B =elt & @ud ®f gaiar g 596 AgHi § S B
& 2o C & Tohy @ua TeTet @ s 74T 87

T WA | 3we | TWc | WO
WAa, 2008 173 175 129 250
wYad, 2018 178 200 275 278

"rd, 2018 27% 225 200 300
Ml 2018 300 300 175 2%0
wE, 2018 125 150 125 400
YA, 2018 123 3%0 200 300

Options:

1. ¥ 107

o ®og.7

2 91411

4 #1511



Question Number : 117 Question Id : 99836718421 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

& farmer has poultry farm. The number of anirmals in the poultry farm is shown in the pie chart below. What
fraction of the sheep are the cows?

Number of animals in poultry farm

Options:

1. 718
= % 18(7
3 % 71z
4 % 12(7

Question Number : 117 Question Id : 99836718421 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T TeFeT & OT Wiwal BTH 21 Oiee ! BTH H e 1 G907 &1 Hie o0 70 ure = § gaiar 79 31 9 & o sfa # ma 87

T S A A F e

Options:

1. 7118
= % 187
3 % 71z
4 % 12(7

Question Number : 118 Question Id : 99836718422 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



The quantity of rice vielded {in MT) in 4 vears is showm in the graph. What is the percentage growth from the
1st wear to the 4th year?

Quantity yielded (in MT)
FESEBER3TEE
K

- z
d I
|

Options:

1. ¥ 7492 percent
2. ¥ 581 percent
% % 598 percent
4, % 789 percent

Question Number : 118 Question Id ;: 99836718422 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
1. % 792 gidag

> & 281 UidaT
S ¥ 5o uideT
4 ® 7 5o uidad

Question Number : 119 Question Id : 99836718423 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



The frequency polygon shows the number of students who appeared for and qualified for the CAT exam in 6
consecutive years. What is the percentage of the total number of qualified students out of the total number of

students appeared for exams in all & years together?

00
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ny 00
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‘D %0
e

2 w0
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= 10
F4

o

Yoar ] Year 2 Yoar ) Yoar 4 Tear 5 Year 6
Year
Options:

1. ® 72 percent
2. % G5 percent
3. % 75 percent
4, ¥ G8 percent

Question Number : 119 Question Id : 99836718423 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
aq%ag%mmﬁfﬁmaﬁr{m% AT AMER 6 ey # CAT qirgT § anfie g &K 9 gUl 5 6 =61 # =iy g 971 bl
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Options:
1. % 72 uda

o % g uidaT
3 ® 7S uldad
4 & 58 uldaT

Question Number : 120 Question Id : 99836718424 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25
The histogram chart shows the nurmber of employees of a firm for different years. In which vear, was the
increase in the number of employees the highest?

Number of Employees
+» 5323335338

011 2002 2013 2014 M1 0ie Fob 01
Year

Options:
1.9 2012

= ® 2014
= #2015
4 ® 2016

Question Number : 120 Question Id : 99836718424 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
ST Fery =T Telforg e # U W o hoiiea sl S garia T g1 Torg o #, it & o | gy ded affden g2 o

FHarar fr gEar
w1 238 E3 L3
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Options:
1. ¥ 2012

o % 2014
3 % 2015
4 # 2016

Zeneral Englishl
Group Number : 7
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Revisit allowed for view? : No
Revisit allowed for edit? : No
Break time: 0
Group Marks: 20
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0

General English 1

Section Id : 998367777

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
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Question Shuffling Allowed : Yes

Question Number : 121 Question Id : 99836718425 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the
seriterice has no error, select the option ™o Error'.

Mahavir selected | the best clothes | to his upcorming wedding.
Options:

1. * Mahawir selected

2. % the best clothes

2. ¥ to his upcorming wedding.

4. % Mo Error

Question Number : 121 Question Id : 99836718425 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The sentenice below has been divided into three parts. Select the part of the sentence that has an error. If the
sentence has no error, select the option Mo Error'

Mahawvir selected | the best Clothes | to his upcorming wedding.
Options:

1. ® Mahawir selected

2. % the best clothes

2. ¥ to his upcorming wedding.



4. % Mo Error

Question Number : 122 Question Id : 99836718426 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the
sentence has no error, select the option ™o Error'

Ramya buved bangles | for all her friends | from the village fair.
Options:

1. ¥ Rarmya buyed bangles

2. % for all her friends

2. # from the village fair.

4. % Mo Error

Question Number : 122 Question Id : 99836718426 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The sentenice below has been divided into three parts. Select the part of the sentence that has an error. If the
sertence has no error, select the option Mo Error'

Rarmya buyed barngles | for all her friends | from the village fair.
Options:

1. ¥ Rarmya buyed bangles

2. % forall her friends

2 % from the village fair.

4. % MNo Error

Question Number : 123 Question Id : 99836718427 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The senterice below has been divided into three parts. Select the part of the sentence that has an error. If the
sentence has no error, select the option ™o Error'

Where will vou stay | if vou don't get [ accormrmodation in any of the hotels?
Options:

1. % Wwhere will vou stay

2. % if you don't get

2. % accommodation in any of the hotels?

4. % Mo Error

Question Number : 123 Question Id : 99836718427 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the
seriterice has no error, select the option ™o Error'.

where will vou stay | if vou don't get | accormrmodation in any of the hotels?
Options:
1. * Where will you stay

2. % if vou don't get



2. % accomrmodation in any of the hotels?
4. % Mo Error

Question Number : 124 Question 1d : 99836718428 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The sentenice below has been divided into three parts. Select the part of the sentence that has an error. If the
sertence has no error, select the option Mo Error'

Prabhakar told the teacher that | he could not found [ his holiday homework.
Options:

1. * Prabhakar told the teacher that

2. % he could not found

= * his holiday homework.

4. % IMNo Error

Question Number : 124 Question Id : 99836718428 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the
sentence has no error, select the option ™o Error'

Prabhakar told the teacher that | he could not found [ his holiday homework.
Options:

1. * Prabhakar told the teacher that

Z % he could not found

2. % his holiday homework.

4. % Mo Error

Question Number : 125 Question Id : 99836718429 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The senterice below has been divided into three parts. Select the part of the sentence that has an error. If the
sentence has no error, select the option ™o Error'.

Earkha shouted at | hers maid | for breaking the glass.
Options:

1. * Barkha shouted at

2. ¥ hers maid

2. % for breaking the glass.

4. % DMNo Error

Question Number : 125 Question Id : 99836718429 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The senterice below has been divided into three parts. Select the part of the sentence that has an error. If the
sentence has no error, select the option Mo Error'

Earkha shouted at | hers maid | for breaking the glass.
Options:
1. # Barkha shouted at



2. ¥ hers maid
3. % for breaking the glass.
4. % Mo Error

Question Number : 126 Question Id : 99836718430 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
select the word segrment that substitutes (replaces) the braketed word segment correctly and complates the
Sentence meaningfully. salect the option Mo Correction requiraed’ if the sentence is correct as Zivern.

[ wrote a poem describing (the beauty of the mountains).
Options:

1. #® the beautiful of the mountains

= % the beauty off from the mountains

3. % the beauty under the mountains

4. % No correction required

Question Number : 126 Question Id : 99836718430 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the word segrment that substitutes (replaces) the braketed word segrment correctly and completes the
sentence meaningfully. Select the option 'no correction required’ if the sentence is correct as given.

[ wrote a poern describing (the beauty of the mourntains).
Options:

1. % the beautiful of the mountains

2. # the beauty off from the mountains

3. % the beauty under the mountains

4. 9 Mo correction redquired

Question Number : 127 Question Id ;: 99836718431 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the word segment that substitutes replaces) the braketed word segment correctly and completes the
sentence meaningfully. Select the option 'no correction required’ if the sentence is correct as given.

The river i OVEI‘ﬂOWiﬂg (but the authorities haven't did a thing).
Options:

1. ¥ but the authorities haven't done a thing

Z % put the authorities hasn't did a thing

3. ® put the authorities hasn't done a thing

4. % Mo correction required

Question Number : 127 Question Id : 99836718431 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the word segment that substitutes replaces) the braketed word segment correctly and completes the
Senternce meaningfullg.r. select the option o correction required’ if the sentence is correct as Zivern,

The river is5 OVEI‘ﬂOW‘ng (but the authorities haven't did a thing).
Options:



1. ¥ bt the authorities haven't done a thing
Z % but the authorities hasn't did a thing
3. % but the authorities hasn't done a thing

4. % No correction required

Question Number : 128 Question Id : 99836718432 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the word segrment that substitutes (replaces) the braketed word segrment correctly and completes the
sentence meaningfully. Select the option 'no correction required’ if the sentence is correct as given.

Eiju was elated (as he did topped the list of successful candidates).
Options:

1. * as he tops the list of successful candidates

2. ¥ as he topped the list of successful candidates

2. % as he done top the list of successful candidates

4. # Mo correction required

Question Number : 128 Question Id ;: 99836718432 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
select the word segment that substitutes replaces) the braketed word segment correctly and completes the
Senternce meaningfullgr. salect the option Mo Correction raquirad’ if the sentence is correct as Zivern,

Eiju was elated (@s he did topped the list of successful candidates).
Options:

1. # as he tops the list of successful candidates

Z % as he topped the list of successful candidates

2. # a3 he done top the list of successful candidates

4. % Mo correction required

Question Number : 129 Question Id : 99836718433 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the word segment that substitutes replaces) the braketed word segment correctly and completes the
seritence meaningfully. Select the option 'no correction required’ if the sentence is correct as given.

Until 14995, I hadn't never seen a real escalator).
Options:

1. ¥ 1 had not seen a real escalator

2. ® [ had ever seen a real escalator

2. % [ didn't never seen a real escalator

4. % No correction required

Question Number : 129 Question Id : 99836718433 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the word segrment that substitutes replaces) the braketed word segrment correctly and completes the
seritence meaningfully. Select the option 'no correction required’ if the sentence is correct as given.

Lntil 19395, 1 hadn't never seen a real escalator).



Options:

1. % 1 had rot seen a real escalator

2. % [ had ever seen a real escalator

2. % [ didn't never seen a real escalator

4. % No correction required

Question Number : 130 Question Id : 99836718434 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

select the word segment that substitutes replaces) the braketed word segment correctly and completes the
sentence meaningfully. Select the option 'no correction required’ if the sentence is correct as given.

iThe teacher gave me not only good marks) but also praised me for having done so well.
Options:

1. ® The teacher gave not only me good marks

2. % The teacher did not only gave me good marks

3. ¥ The teacher not only gave me good marks

4. % No correction required

Question Number : 130 Question Id : 99836718434 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Select the word segrment that substitutes (replaces) the braketed word segrment correctly and completes the
seritence meaningfully. Select the option 'no correction required’ if the sentence is correct as given.

iThe teacher gave me not only good marks) but also praised me for having done so well.
Options:

1. # The teacher gave not only me good marks

2. % The teacher did not only gave me good marks

2. ¥ The teacher not only gave me good marks

4. % Mo correction required

Question Number : 131 Question Id : 99836718435 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the most appropriate word that fills in the blank correctly and completes the sentence meaningfully.

Lata's singing the entire Country.

Options:

1. % enthralled
Z % ruptured
3. % frustrated

4. % mingled

Question Number : 131 Question Id : 99836718435 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the most appropriate word that fills in the blank correctly and completes the sentence meaningfully.

Lata's singing
Options:

the entire country.



1. ¢ enthralled
2. % ruptured
Z. % frustrated

4. % mingled

Question Number : 132 Question Id : 99836718436 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the most appropriate word that fills in the blank correctly and completes the sentence meaningfully.

My boss was almost by his presence all over the office.
Options:

1. % ultimate

2. ¥ ubiquitous

2. % pernicious

4. #® permissible

Question Number : 132 Question Id : 99836718436 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the most appropriate word that fills in the blank correctly and completes the sentence meaningfully.

My boss was alimost by his presence all over the office.

Options:

1. * ultimate
2. ¥ ubiquitous
2. % pernicious

4. % permissible

Question Number : 133 Question Id : 99836718437 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the most appropriate word that fills in the blank correctly and completes the sentence meaningfully.

_______ decision and called truce.

The Major took a
Options:
1. ¥ momentous
2. % knowledgable
3. % lazy

4. % inquisitive

Question Number : 133 Question 1d : 99836718437 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the most appropriate word that fills in the blank correctly and completes the sentence meaningfully.

The Major took a decision and called truce.

Options:
1. % mormentous

2. % knowledgable



2. % lazy

4. % inquisitive

Question Number : 134 Question Id : 99836718438 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the most appropriate word that fills in the blank correctly and completes the sentence meaningfully.

The soldiers showed _________ courage in defeating an enemy ten times their size.
Options:

1. ¥ exemnplary

2. % provisional

2 % affluent

4. % diminutive

Question Number : 134 Question Id ;: 99836718438 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the most appropriate word that fills in the blank correctly and completes the sentence meaningfully.

The soldiers showed _________ courage in defeating an enermy ten times their size.
Options:

1. % exernplary

2. % provisional

3. ® affluent

4. % diminutive

Question Number : 135 Question Id : 99836718439 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the most appropriate word that fills in the blank correctly and completes the sentence meaningfully.

Iy father was a
Options:
1. # knawve

= ¥ contemplative

person for he thought before he spoke.

3. * gustere

4. % charismatic

Question Number : 135 Question 1d : 99836718439 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the most appropriate word that fills in the blank correctly and completes the sentence meaningfully.

My father was a person for he thought before he spoke.

Options:

1. % knave

= ¥ contermplative
2. % austere

4. % charismatic



Question Number : 136 Question Id : 99836718440 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the most appropriate word that fills in the blank correctly and completes the sentence meaningfully.

_______ habits helped her sawve a fortune for her son's studies.

Options:
1. % frugal

2. % wasteful
2. % engaging

4. % gvengeful

Question Number : 136 Question Id : 99836718440 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the most appropriate word that fills in the blank correctly and completes the sentence meaningfully.

_______ habits helped her save a fortune for her son's studies.
Options:

1. % frugal

2. % ymasteful

3. % engaging

4. % gvengeful

Question Number : 137 Question Id : 99836718441 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the most appropriate word that fills in the blank correctly and completes the sentence meaningfully.

The military bosses withl the terrorists,

Options:

1. * emancipated
2. % kindled

2. ¥ hobnobbed
4 % fructified

Question Number : 137 Question 1d : 99836718441 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the most appropriate word that fills in the blank correctly and completes the sentence meaningfully.

The military hosses with the terrorists.

Options:

1. * emancipated
2. % kindled

2. ¥ hobnobbed
4. % fructified

Question Number : 138 Question Id : 99836718442 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25
Select the most appropriate word that fills in the blank correctly and completes the sentence meaningfully.

What are the selaction 7

Options:
1. % criteria

2. % Consensus
. % appraisal

4. % pretentions

Question Number : 138 Question Id : 99836718442 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the most appropriate word that fills in the blank correctly and completes the sentence meaningfully.

What are the selection G

Options:
1. % criteria

2. % COnSensus
2. % appraisal

4. % pretentions

Question Number : 139 Question Id : 99836718443 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Some parts of a sentence have been jurnbled up, and labeled P, &, K and 5. Select the option that gives the
correct sequence in which these parts can be rearranged to form a meaningful and grammatically correct
Senterce,

F: ran away to take cover

3 evernl when other soldiers

E: the brave and fearless

5 soldier did not leave his post
Options:

1. % RSOF

Z. % REPD

3. % PROS

4. % QRSP

Question Number : 139 Question Id : 99836718443 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

SCOITe parts of a sentence have bheern Jurmibled up, and labeled P, O, R and 5. Select the option that gives the
correct sequence in which these parts can be rearranged to form a meaningful and grammatically correct
Senternce,

F: ran away to take cover

o everl when other soldiers

E: the brave and fearless

S: soldier did not leave his post

Options:
1. % RSQFP



2. % RipPQ
3. % PROS
4. % QRSP

Question Number : 140 Question Id : 99836718444 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Some parts of a sentence have been jurnbled up, and labeled P, Q. K and 5. Select the option that gives the
correct sequence in which these parts can be rearranged to form a meaningful and gramumatically correct
Santerce.

F: quite frequerntly
E: to the hills and
i they trawvelled
5. to the beaches
Options:

1. % QFRS

2. % SPROQ

3. % PRSCQ

4 % RPOS

Question Number : 140 Question Id : 99836718444 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Some parts of a sentence have been jurmbled up, and labeled F, &, E and 5. Select the option that gives the
correct sequence in which these parts can be rearranged to form a meaningful and grammatically correct
sentence.

F: quite frequently
E: to the hills and
) they trawelled
S to the beaches

Options:
1.9 QPRS
2. % SPRO
3. % PRSO
4. % RPQS
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Question Number : 141 Question Id : 99836718445 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The sentenices of a paragraph have been jumbled up, and labeled P, &, R and 5. Select the option that gives the
correct sequence in which these sentences should be rearranged to form a meaningful paragraph.

F: Nobody knew his name.

O Mor did anyone know where he carme from.

R ©<n the day of his departure, everyone greeted him and bade him a farews]l.
5 But he left a lasting impression ol whoever spoke with hirm.

Options:

1. % SRFPQ
2 ¥ POSE
2. % SROFP
4 % SPRC

Question Number : 141 Question Id : 99836718445 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The sentences of a paragraph have been jumbled up, and labeled P, G, B and 5. Select the option that gives the
correct sequence in which these sentences should be rearranged to form a meaningful paragraph.

F: Mobody knew His narme.

& Mor did anyone know where he came from.

E: On the day of his departure, everyone grested him and bade him a farewsll.
S: But he left a lasting impression on whoever spoke with him.

Options:

1. % SRFPQ
2. % POSE
2. % SROP
4 % SPRCQ

Question Number : 142 Question Id : 99836718446 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25
Select the word that is closest in meaning SYMNONYM of the word given below,

EEJECT
Options:

1. % Meander
2. % Fragment
3. ¥ Refuse

4 # Choose

Question Number : 142 Question Id : 99836718446 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the word that is closest in meaning SYNONYM of the word given below,

REJECT
Options:

1. % Meander
2. * Fragment
2. ¥ Refuse

4. # Choose

Question Number : 143 Question Id : 99836718447 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the word that is opposite in meaning ANTONYM of the word given below.

HOMEST
Options:

1. % Incredible
Z. % Credible
3. ® Decrepit
4. ¥ Deceptive

Question Number : 143 Question Id : 99836718447 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the word that is opposite in meaning ANTONYM of the word given below.

HOMEST
Options:

1. * Incredible
2. % Credible
3. #® Decrepit
4 ¥ Deceptive

Question Number : 144 Question 1d : 99836718448 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



Select the word that is closest in meaning SYHOMNYM 1o the word given belcm.

IMPISH

Options:

1. % Mischievous
2. % Merry

2. % Punishable

4. % Victorious

Question Number : 144 Question Id : 99836718448 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the word that 15 closest in meaning SYHONYR 1o the word given belca.

IMPISH

Options:

1. % Mischievous
2. % Merry

2. % Punishable

4. % Victorious

Question Number : 145 Question Id : 99836718449 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the word that is opposite in meaning ANTONYM of the word given below.

ENDURE
Options:

1. % Destroy
2. ¥ Yield

3. ® Defeat

4. % Fornent

Question Number : 145 Question 1d : 99836718449 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the word that is opposite in meaning ANTONYM of the word given below,

EMNDURE
Options:

1. % Destroy
= ¥ Yield

2. % Defeat
4. % Fomert

Question Number : 146 Question Id : 99836718450 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the correct word that fills in the blank and makes the sentence meaningful.

person can kill a child.



Options:

1. % terrific
= ¥ terrible
3. % tearble

4. % tierable

Question Number : 146 Question Id : 99836718450 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Selact the correct word that fills in the blank and makes the sentence meaniﬂgful.

_______ person can kill a child.
Options:

1. * terrific

= ¥ terrible

3. % tearble

4. * tierghle

Question Number : 147 Question Id : 99836718451 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Four words are giverl, out of which only one word is spelt correctly. Choose the correctly spelt word.

Options:

1. ¥ Forecast
2. ® Forcast

2. % Fourcast

4 % Foarcast

Question Number : 147 Question Id : 99836718451 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Four words are giverl, out of which only one word 15 spelt correctly. Choose the correctly spelt word.

Options:

1. ¥ Forecast
= % Forcast

3. % Fourcast

4. % Foarcast

Question Number : 148 Question Id : 99836718452 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Four words are giverl, out of which only one word is spelt correctly. Choose the correctly spelt word.

Options:

1. % Calender
2. % Calandar
2. ¥ Calendar

4 % Calander



Question Number : 148 Question Id : 99836718452 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Four words are giverl, out of which only one word is spelt correctly. Choose the correctly spelt word.

Options:

1. % Calender
2. % Calandar
3. ¥ Calendar

4 % Calander

Question Number : 149 Question Id : 99836718453 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Four words are giverl, out of which orly one word 15 spelt correctly, Chodse the correctly Spelt word.

Options:

1. # Aguisition
Z % Acquiscition
3. ® Acquisation
4 ¥ Acquisition

Question Number : 149 Question Id : 99836718453 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Four words are giverl, out of which only one word is spelt correctly. Choose the correctly spelt word.

Options:

1. % Aquisition
2. ® Acquiscition
3. % Acquisation

4.9 Acquisition

Question Number : 150 Question Id : 99836718454 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the option that best expresses the meaning of the idiom or phrase giverl below.

A dirme a dozer

Options:

1. % Very cormmon or cormmonplace
2. % Very rich person

3. % Very stingy persorn

4. ® Something that is very costly and expensive

Question Number : 150 Question Id : 99836718454 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
select the option that best expresses the meaning of the idiom or phirase giverl belosw,

& dirme a dozen
Options:
1.9 Very COrTunon or Cornunonplace



2. % Very rich person
3. % Very stingy persorn

4. ® Something that is very costly and expensive

Question Number : 151 Question Id : 99836718455 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the option that best exprasses the meaning of the idiom or phrase giverl belomws,

Hit the road

Options:

1. % Be very angry

= % Begin one's journey
2. # Tostop One's journey
4. % Todig the road

Question Number : 151 Question Id : 99836718455 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
select the option that best expresses the meaning of the idiom or plirase giverl below,

Hit the road

Options:

1. % Be very angry

2. ¥ Begin one's journey
2. % Tostop one's journey
4. % Todig the road

Question Number : 152 Question Id : 99836718456 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the option that best expresses the meaning of the idiom or phrase given below.

Dnce in a blue moon

Options:

1. % Cnce in a while, infrequently
2. % Rely on outward appearances
3. % In the nature's lap

4. ® Very bright and pleasant night

Question Number : 152 Question Id : 99836718456 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the option that best exprasses the meaning of the idiom or phrase giverl belomws,

Once in a blue moon

Options:

1. % Cnce in a while, infrequently
Z % Rely on outward appearances

2. # In the nature's lap



4. ® Very bright and pleasant night

Question Number : 153 Question Id : 99836718457 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
select the most appropriate 'one word ! for the EXPIEsSI0NSs giverl below.

A state, society, or group governed by old people
Options:

1. ® Democracy

= ¥ Gerontocracy

2. * Cligarchy

4. % Ochlocracy

Question Number : 153 Question 1d : 99836718457 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
select the most appropriate 'one word ! for the ERPIessions giverl below,

A state, society, or group governed by old people
Options:

1. % Democracy

2. ¥ Gerontocracy

2. % Cligarchy

4. % COchlocracy

Question Number : 154 Question Id : 99836718458 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the most appropriate 'one word ' for the expressions given below,

& systermn of government by one person with absolute power
Options:

1. % Autocracy

2. % Aristocracy

3. #® Neocracy

4. % Thearchy
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Arl extreme or irrational fear of open or public places
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Read the below passage and answer the questions that follow.

Ehutan, officially the Kingdom of Ehutan is a landlocked country in South Asia. Located in the Eastern
Hirmalayas, it is bordered by the Tibetan Autonomons Region of China in the north, the Sikkim state of India
and the Chumbi Valley of Tibet in the west, the Arunachal Pradesh state of India in the east, and the states of
Assarm and West Bengal in the south. Ehatan is geopolitically in South Asia and 15 the region's second least
populous nation after the Maldives. Thirmphu is its capital and the largest city, while Phuntsholing is its
financial center.

The independence of Bhutan has endured for centuries and it has never been colonized in its history. Situated
orl the ancient Silk Road between Tibet, the Indian subcontinent and Southeast Asia, the Ehutanese state
deweloped a distinct national identity based on Buddhism. Headed by a spiritual leader known as the
Zhabdrung Rinpoche, the territory was cormnposed of many fiefdoms and governed as a Buddhist theocracy.
Following a civil war in the 159th century, the House of Wangchuck reunited the country and established
relations with the EBritish Empire. Bhutan fostered a strategic partnership with India during the rise of Chinese
cormrnunism and has a disputed border with China. In 2008, Bhutan transitioned from an absolute monarchy
to a constitutional monarchy and held the first election to the National Assembly of Ehutan. The National
Assermbly of Bhutan is part of the bicameral parliament of the Bhutanese democracy.
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Wwhat lies to the North of Bhutan?

Options:

1. % Sikddm state of India

2. % Himalavan mountains of MNepal

3. ¥ Tibetan Autonomous Region of China

4. # Hilly region of West Bengal
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Which is the financial centre of Bhutan?
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1. # Thimphu
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What 15 the spiritual (Buddhist) leader in Bhatan called”
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1. % Phuntsholing

2. ¥ Zhabdrung Rinpoche
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4. % Churmbi
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Read the below passage and answer the questions that follow.

Ehutan, officially the Kingdom of Ehutan is a landlocked country in South Asia. Located in the Eastern
Himalayas, it is bordered by the Tibetan Autonomous Region of China in the north, the Sikkim state of India
and the Churnbi Valley of Tibet in the west, the Arunachal Pradesh state of India in the east, and the states of
Assam and West Bengal in the scuth. Bhutan 15 geopolitically in Scuth Asia and 15 the region's second least
populous nation after the Maldives. Thimphu is its capital and the largest city, while Phuntsholing is its
financial center.

The independence of Ehutan has endured for centuries and it has never been colonized in its history. Sitnated
ol the ancient Silk Road between Tibet, the Indian subcontinent and Southeast Asia, the Bhutanese state
deweloped a distinct national identity based on Buddhism. Headed by a spiritual leader known as the
Zhabdrung Rinpoche, the territory was composed of many fiefdorms and governed as a Buddhist theocracy.
Following a civil war in the 19th century, the House of Wangchuck reunited the country and established
relations with the Eritish Empire. Ehutan fostered a strategic partnership with India during the rise of Chinese
corrrmunism and has a disputed border with China. In 2008, Ehutan transitioned from an absolute monarchy
to a constitutional monarchy and held the first election to the Mational Assemmbly of Ehutan. The National
Assembly of Ehatan is part of the bicameral parliament of the Ehutanese democracy.
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1. * Sikldmn state of India
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EBhutan has a disputed border with which country?

Options:

1. % MNepal
2. % China
2. * India

4. % Myanmar
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What 15 the spiritual (Buddhist) leader in Bhatan called?

Options:
1. # Phuntsholing
2. ¥ Zhabdrung Rinpoche

2. % Wangchuck

4. % Churmbi
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1. % gq5d A @A
A ST Hd®Te

3 % amuf qEeTe

4 & quf Gt

Question Number : 182 Question Id ;: 99836718487 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TR ng H, oW Hwedt § 9, 39 THwed @ a9 @ A1 150 M7 ae & O g 3 9T 9 T SRET wed gl

ST AY UT T T T2 af & gar gt =mm
Options:
1. % fgeof

2. ¥ gt
3 % magmf
4 % Tecraref

Question Number : 182 Question Id : 99836718487 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TafeET ng §, ow Sweul § 9, 39 [9we0 &1 =09 @ A1 oy 7y e & TR0 g & 99 @ 99 2RET fa@ed 2]

ST A% UT T TR A2 a1 & gar g1 =
Options:
1. % feeosf

= W gl
3. % magnf
4. ® Toscrref

Question Number : 183 Question Id : 99836718488 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TafaET g # or et # € 39 Been @1 o0 a3 1 Ty T are & TR0 oy & s @ aee are e 8

el g o T A B

Options:

1. % grvmars
2. ¥ TeaawEias
3. ® yoidenas

4. ¥ yWvEE®



Question Number : 183 Question Id : 99836718488 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TteET v # o Bwedt § & 39 Swew @1 =9 o A1 2w o ame & TR iy & AT @7 gee SRET e 3

el ¥ A =g A
Options:

1. ¥ grares

2. Toaeas

% ® mdErae

4. ¥ JRAEE

Question Number : 184 Question Id : 99836718489 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
o et & & T amga e uivad = @7 fdwew gi=m

T AT T T & (earea)

Options:

1. & AT FA ERT =TT T
2. % REGHT gH ST

3 % g e aE

4 % RIAFTEA AT 5

Question Number : 184 Question Id : 99836718489 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T faeredt # & TS amgaw e uivad 1 @ fdwed gi=m

T T &1 T § (Harea)

Options:

1. & AT AT SR 7T =T
2. % TEHAMT gHT a=mET

3 % g et awm

4 % AT EA a1 &

Question Number : 185 Question Id : 99836718490 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TafafET g # ow et # € 39 Teew #7909 @ S 98T aeg 9 #7 Heew g

3T el GIET o T AT )
Options:

1. % T o

2 ® ggm aed

3. ¥ e g
4. % T G

Question Number : 185 Question Id : 99836718490 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25
AT vg # gr et # 4 39 e o7 90T @ S 98T Gy 9 ®7 Hwed g

ol Tl BIEd & O AT 2]
Options:

1. % fipram

2 % ggm aed

3. % frEmEe T
4. ¥ §OH Jaeg

Question Number : 186 Question Id : 99836718491 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T vg §, o THeent § 8, 39 e @1 =4 & S 9y 1 a1 9 &7 fSwe g

HEAT oY W 3T &fR Feg 2 ol T
Options:

1. Hgw aeg

o % Ty aEg

Z. ¥ HigdmEE e

4, ¥ HhgdEE e

Question Number : 186 Question Id : 99836718491 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
ey v §, o Teenl § & 39 fSeen o1 94" & 1 g8l a1 9 &7 fdweT gh

HEHT B 0T ST 37 g g 2ol T
Options:

1. Hgm aa

o % Ty

% % gigdmEw e

4. ¥ HhTIEE T

Question Number : 187 Question Id : 99836718492 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T v §, o THeent § & 39 fSeen &1 oa= & 1 g5l a1 d &7 fdweT g

e |l ST, T 5 T =@
Options:

1. ¥ fSemearme areT

2. % g g

. Toer e

4 % Hgm A

Question Number : 187 Question Id : 99836718492 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



Tt ng § o Bwedt § & 39 Swew @7 a9 o A1 "5t a9 9 @7 Heer g
el |l ST, T 5A T =em

Options:

1. # {Sreraare ame
2. ® T g

= o Ty aE

4 % Hgm A

Question Number : 188 Question Id : 99836718493 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TafeET ng §, o Swed! 8 9, 39 fowmey @1 o2 @ A1 oo R g% o &7 gt fdweT g

Options:

1. & g ST g &1, TR BT R
2. % e A7 o WET AT WA 50 51
3. ® Jge o 7 WET AT FWH O ¢
4. % g =i < T 4 AW I

Question Number : 188 Question Id : 99836718493 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Tl v #, o Bt § 8, 30 Fwew w1 =9 o St Bew g 3% a1 @7 95t Bee 5

Options:

1. HgE i o T o, ST R
2. % Jgw S 7 WET AT S 50 &l
% % JgE A o WET AT- AW 50 &l
4. ® e S W AT, THIH 50 21

Question Number : 189 Question Id : 99836718494 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
TafeET ng §, o Swed! 8 9, 39 fowmey @1 o2 @ A1 oo R g% o &7 gt fdweT g

Options:

1. % g7, que a7 FE 51w e
2 aTgl GO a7 FHI 5 B T
3. % gg- gA O AT 51 R 1T
4 ® Frgl "A- T B 51 B feam

Question Number : 189 Question Id : 99836718494 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TmET vg H, ox Hwent # €, 39 Teen w1 oad ) 1 Ty By gw 9w ®7 agf Hwed gn

Options:

1. % grg, A T1 T 51 Y
2. TTE TAY 91 FAT Z1 T
3. ® gE- gH T BT 51 F 1AM
4. % grgl "gAT I FA £ F T



Question Number : 190 Question Id : 99836718495 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Tty va /. ox Swedt 8 9, 39 Swey @1 099 o 9 fou 7 gerat & o |gt arf arar Hwe 2

& T w1 HgA

Options:

1. % 2 fae & o HgA o ST
2. % iE T e

3 ¥ grg & we g

4, % SENEETET EET

Question Number : 190 Question Id : 99836718495 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Tty va #, ox Beedt 8 9, 39 Swey #7099 &% 91 fou 7y geret & o agt arf gt Seer 3

< e @0 HgHe

Options:

1. % gt fag & folT HgAE o ST
2. % e T AT

3. ¥ gog & e g

4, ® SEEEETET BT

Question Number : 191 Question Id : 99836718496 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
e v . o Ewedt 8 9, 39 ey %7 o3 3 7 150 7 geTa & oy |gt arf arar Hewed 2

T 1 AT
Options:

1. % 3R AR
2. % T diear
= ¥ g3 e
4, ¥ fEv oy

Question Number : 191 Question Id : 99836718496 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Tty va /. ox Swedt 8 9, 39 Swey @1 099 o 9 fou 7 gerat & o |gt arf arar Hwe 2

T o A I
Options:
1. % wmar o

2 & SrgrdEEr
3. ¥ g3 T
4 ¥ fEvooie

Question Number : 192 Question Id : 99836718497 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25
TafeT v, o Swedt § €, 39 owed #7939 3% A7 150 7 geTay & wy agt arf arar Heed g

T # ST gHT

Options:

1. o0 3u o aifée A
2. ¥ FEaT @ 5T

3. ® oA

4 ® FiETHw

Question Number : 192 Question Id : 99836718497 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Tty va /. ox Swedt 8 9, 39 Swey @1 099 o 9 fou 7 gerat & o |gt arf arar Hwe 2

T H TR EEAT

Options:

1. w3 s Teamr
2. % FEOd W EET

%, % A S

4. % FlaTFHw

Question Number : 193 Question Id : 99836718498 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TR ng #, oW fHwed! § 9, 39 Towed &1 909 T 1 ol T8 A s & o] Tn1 arf aTar e 8

41 g "a e A=

Options:

1. % Rt ¥ g e T e =
2 % Srer o g AT

3. % A T

4 & FHFH UEF g g1y

Question Number : 193 Question Id : 99836718498 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TEmET vg # gr et # 4 39 ey @7 209 @ S 3T TE AreiiE & T aer erf arer Hee 2

T g A A

Options:

1. % geRt i By amedt o et 3 ST
o % dy I g AT

3. % S =T

4 FAFHE UEF Tg g1y

Question Number : 194 Question Id : 99836718499 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



oot ng o, oW Hwedt § 9 39 Dorew @7 = = 91 S T8 fiwine & oy dg 1 arf e e 8
e T 21 W

Options:

1. & U T § GEC HH 5 A

2. % A UF & 9 g

I % oo T g 2

4 % gigwe =W

Question Number : 194 Question Id : 99836718499 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TR ng #, oW fHwed! § 9, 39 Towed &1 909 T 1 ol T8 A s & o] Tn1 arf aTar e 8

ek T 21

Options:

1. & U A H GE HH G A
= R g Uw e T

3. ® e TEdT gawr ar

4 % gizws =W

Question Number : 195 Question Id : 99836718500 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
AT vg H, oR Twet # 9 39 987 Hwe @ T S 8 Al & oy agt el a e e 81

ST 7T o fopaepet €1+ =rr
Options:

1. % geax famar

2. % AEag T waee

3. ¥ o I 1o aRET T T
4. % EAT R

Question Number : 195 Question Id : 99836718500 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T ng & o Bwedt § 9 39 99t Heed @7 oo w1 S e Al & B agt et e Bee f1

ST w1 o Toheepet T ot =riar

Options:

1. % geax famer

2. % AEag F waeE

=, ¥ TeHT S O aRET wH @AT

4 % FHT R
Sub-Section Number: 2
Sub-Section I d: 998367994

Question Shuffling Allowed : Yes



Question Id : 99836718501 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (196 to 200)
Juestion Label - Comprehension

el T T T T esEE Od $ T T Wl T Aoy o g

TR 37 § T5eadTe, fTerT 3% WHTCHT o Hel H Teid F1ed &, U 3T o TReaalel Tl & S0 UHT A8 @51 A7 |
56 GE H AT Ao S0 A1 AR A FF ¢@d T 5, o U [died 5ed | ST 8l ag-s BT |t IO T @i Far 56 aued
Telser-TIT=T o TEed BT IETe gl B¢ UN &, Tohe STeiehTer qoF TeielTe ST ST dl o WETd Ivg U SRTET Toll ToF 2 Jred 9
mmﬁéﬁwwm@@%wa@wwaﬁmmmaﬁwmm T ST G A1 G ST
TR & Tolll o ATl siol BT 381 39 SIgae 61 3 si5] o1 SI=Td Al o WH H of U 51 38 8, SHeF U1 &7 & &1 G d0i- & 0T
T 51 g1 T TRl = Uk T F A1 a1 Fgl o [ an qig HT Tded A1 T § U S I Sigdl @R SAF A1 S Gbd N g gRT
%ﬁﬂmaawﬁmmw%: TR 9 JHT 1T & TS & S0 81 39 9 FT 7T 1 ToiT A7 FaT &, g SaeT arvil & g
ST

Sub questions

Question Number : 196 Question Id : 99836718502 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TEEATg T 57

Options:

1. % SITCAT &7 UCHATCHT o TEed & S8l g
2. % AT ST OTATCHT | T Fed

= & TCAT &7V TRHTCAT ST

4. % 3enT AW URATCAT ST | 0 e

Question Number : 197 Question Id : 99836718503 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
S T | T o Ty aTere s et g7

Options:

1. % oo Faad g s

2. ¥ S T I W RIS |

S e o ) O e o e L

4. % T 3G G G o T ST AR Ao

Question Number : 198 Question Id : 99836718504 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
F5] T A0 FA H FIEATE 7T 27

Options:

1 ¥ gy st amsg

2, % I gl gRT AET 5] AT qEaT

3. & T A0 i ARl T AT " T
4. % JUTrRR w7 T wRl g

Question Number : 199 Question Id : 99836718505 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T | I - AT (el o W ARl art 37

Options:



1. % Ha-FF qqTEHT

2 % et vt favfa Zar

=, o TE-TEd & A0 % G- W ST
4, ¥ {E-TAT FT A0 T & U

Question Number : 200 Question Id : 99836718506 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TH Ageis 1 PIE SUgH dHw-
Options:

1. % vgegare @7 et

2. ¥ HHRE & ="

3. ® s sren
4. ® UTHTCHT

Question Id : 99836718501 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (196 to 200)
Cuesticon Label | Comprehension

Tl TaT I Treiar i e Od ST Tai T Wed w1 |diol <o ol

WS 20 § T5eaTs, SITeAT 31 UTATCAT & Halel H Tieid F1ed &, T 31T ol (5eadie] ta-Tel &1 aHud: UHT 51 gl AT JddT
T GiE T T Os S =R 3 ST g a1 8, o U [l ted § SITgd 81 se—e BT ot gt a@F @i Fdr 50 Jued
T & T I e 51 A U, T STl qoF Teleime i |TeET @ o Wl 3wy U SHd garT o o aned gar
EAGEIGE] TGS T BT 51 ¥gT 51 I8 S Tl BT #g] 7 UCHTCHT HI FET <11 T 5] TH ST Tl bl Giord 1T a8
TEFT 27 TolT o ATere o 51 381 39 SIS 901 36 905] o7 SI1d a1 o UH H o U 51 38 &, S99 101 &7 © &1 7 aui-d & 0T
T 5T 2] ﬂ?ﬁmﬁﬁﬁﬁwmﬁg"gw =1 & ToF o iy oI Toew o1 9% € W g, 39 Sigdl @Ry ST A5l o "N §ed gRT
%ﬁﬂme@mﬁmmm%, TR @ AT 11 & 1S & S0 81 39 S0 F1 S7THg, 1 To1aT AT SFal &, Tog JamT arvi & G
T A

Sub questions

Question Number : 196 Question Id : 99836718502 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

L CICEE

Options:

1. % STeHT 3T ULHTCHT o T8 & <21 5ol
2. % AT &Y UTATCHT & Trarad wied
3. & 3ToAT A URHTAT AT

4 % TeOT A7 THTCAT ST @ O Wl

Question Number : 197 Question Id : 99836718503 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
I G & e o Ty A s ot §7

Options:
1. % ggaaFand gy

2 ¥ ST AN I WEEI 5T §
SRR o i o e

4. % o I ST AT F o1 ST AT He



Question Number : 198 Question Id : 99836718504 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
F5] T A0 A H FIEATE 7T 57

Options:

1 ® g aRaramws

o, % ¥ gl gWT AET A5 AT AT

%, T A Al ARl ST T " T
4. ® guiik gl Ewey g5l

Question Number : 199 Question Id : 99836718505 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TIH J W - |7 [ eg @1 anr 3 57
Options:

1. % -7 uar g

2 % e @ TAvie g7

3. TEI-TIAT @ 0 @ T @ gHar

4, % FE-TAF T =09 T & 7T

Question Number : 200 Question Id : 99836718506 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TH Ageis 1 PIE SUgH dw-
Options:

1. % vgegare @7 el

2. ¥ THR & H=ET

3. % Srgem srmeAr
4 % TTATCAT



